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Example for autonomous organeiles?

(A) Mitochondria

(B) Chloroplast

(C) Mitochondria and chloroplast

(D) Chloroplast, mitochondria and
Golgibodies

Protein synthesis takes place in

which cell organelle?

(A) Cell wall

AB) Ribosomes

(C) Nucleus

(D) Cytoplasm

Lysosomes are produced by which of

the following cell organelles?

(A) Mitochondria

(B) Endoplasmic Reticulom

(C) Golgi Complex

(D) DNA

High lipid content is a characteristic

of-

(A) Erythrocyte membrane

(B) Myelin sheath membrane

(C) Inner mitochondrial membrane

(D) Outer mitochondrial Membrane

7086\A\2022-23

[3]

1.

AT R % R 3zmor #?

(A) wTEeXmiZar

(B) F@RIERT

(C) wgTwivEar 3R aeReRe

(D) TR, "ETPigar AR et
It

N Geemor fs f¥resnr I B &-

(A) e fife

(B) Iz A

(C) e

(D) R =T

fffofRea 4 ¥ fow afm e/

o e @ @

(A) wECHIoZan

(B) UBrenfwe Wpem
(C) Tifeatt BT
(D) & m\ . ©

eréfeis ddc Bt Rdrar -

(A) cReae e

(B) wrsfer ¥y freeh

(C) 3iaRked wgciei-gact faeet
(D) dred wrcrT-gact fet

P.T.O.

https://www.rmpssuonline.com

A — -



W

Which type of genetic disease Is
caused by mutations in a membrane
protein-

(A) Alzheimer's disease

.B) Parkinson's disease

{C) Animia

(DY Hemolytic anemia

which of the following can control
the electrical behaviour of the cell?
\A) Micro tubules

(B} Actin filaments

{C) Intermediate filaments

(D) All of the above

#hich of the following are found only
in animal cells?

(A) Intermediate filaments

‘B) Microtubules

(L) Nucleus

‘D) Microfilaments

Citha and flagella are-

‘#) Intermediate filaments
4E) Microfilaments

‘C) Microtubules

‘D) Phospholipids

708MA\2022-23
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10.

11.

12.

Microtubules are formed of the pro-
tein-

(A) Clathrin

(B) Keratin

(C) Tubulin

(D) Actin

Cytoskeletal filaments are of-
(A) Proteins

(B) Ribonucleic Acid

(C) Deribonucleic Acid

(D) Carbohydrates

Sodium and Potassium pumps are
examples of

(A) Plasmolysis

(B) Active transport

(C) Passive transport

(D) Osmosis

The rRNA is synthesized by-
(A) Golgi body

(B) Nucleus

(C) Nucleolus

(D) Cytoplasm

T086\A\2022-23
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13.

14.

15.

16.

In the given list, which is the sim-
plest amino acid-

(A) Alonine

(B) Glycine

(C) Tryosine

(D) Asparagine

This cell organelle does not contain
DNA-

(A) Nucleus

(B) Mitochondria

(C) Lysosomes

(D) Chloroplast

The Kitchen of cell is called-

(A) Cell wall

Nucleus

(C) Vacuols

Plastids

Which of this is/are examples of an
organ containing a smooth muscle

(A) Iris of eye
(B) Bronchi only

(C) Uterus only

(D) Al of these

7086\A\2022-23
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17 A genomic DNA processes function- 17. v Fefies £ 09 0 ofsar sade % owm

ing units, a group of genes under the % W & v I B e fama

influence of promotors known as-

aET e &-
(A) Genes (A) M=
(B) Operons (B) 3MRFH
(C) Anticodon ©) RdEn
(D) Codon (D) B

18. The process by which RNA molecule 18. IE uidsar 5 g’ AR 0A.0. 3“5[3"1"-

are initiated, elongated and termi- R 3k a2 #1 sead 2

nated are called-

(A) wiorpldr (AeAAderT)
(A) Replication
(B) uftdra (grafieea=)
{B) Transcription
(C) Translation (C) AR (g=werer)
(D) Central Dogma (D) ¥éra geufifan
19. The "Central dogma" of inheritance  19. ¥ gouffar & IR 1 Haew-
means-
(A) The expression process of ge- (A) IR sHet @ sfiafe

netic information

wfear

(B) Inter pretation process of ge-

netic information

(B) IERIE AR & v i

(C) The Laws of Inheritance of ge-

netic information (C) 3 IafTe SRt 3 e ¥ fray
(D) The transmission of a genetic
information (D) amafers a1 & TRor
7086\A\2022-23 (7] P.T.0.
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20.

21.

22,

23.

In prokeryotes organisms transcrip-
tion process occur in -

(A) Nucleus

(B) DNA
(L) Cytoplasm

(D) Golgi-1V

Termination of replication is trigged
by-

(A) D.N.A. Polymerase

LB) Helicase

(C) S.S.B.

(D) Thus protein

The enzyme required for transcrip-
tion is-

(A) Restriction Enzyme

(B) D.N.A. Polymerase

’(C) R.N.A. Polymerase

(D) RN Aase

Coated vesicles are coated with

protein

(A) Integrin

(B) Claudin

(C) Occludin

(D) Clathrin

7086\A\2022-23

(8]

20. IRAIRS s & gt & B

21.

22.

23,

2 &
(A) afferE A

(B) D.NA.®

(C) WRETeTsH (HIeTEed)
(D) Golgi-1V (TEat-1V)
sfpfr 1 awe e s s @ -

(A) B.07.0. GRS
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24. Which elongation factor is known as 24, iy agl TR B ZreesH & ¥ S

translocase? it -

(A) EF-Tu (A) EF-Tu

(B) EF-Ts (B) EF-Ts

(C) EF-G (C) EF-G

(D) None of the above (D) IR¥es § o T
25. RNAI stands for: 25. 3R o g 37 B waed &-

{A) RNA inducer (A) IR BT E RS

(B) RNA interference (B) ¥R UA € &89

(C) RNA intron (C) IRETEFRH

(D) RNA insertion (D) 3R & v |ftwers
26. Gene imprinting involves 26. 3= sfuifEn d e &

(A) DNA Phosphorylation (A) & v v BfepRefiasor

(B) DNA glycosylation () ¥ o ¢ wRAE=

(C) DNA Oxidation (C) & & e sifasiiavor

(D) DNA methylation (D) & o= v o=
27. The sequence of Pribnow box is: 27. feh afew & w3

(A) TATAAT in the template DNA
(A) T ®s N TATAAT

strand

(B) TATAAT in the non template _
(B) F-Tvdic W & TATAAT

strand
(C) TTGACA in the non-template !
P (C) T WA TTGACA

strand

(D) TTGACA in the non template (D) d-2wde W5 TTGACA
strand

70““\2022-23 [9] P.T.O.
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28.

Which one is not a component of lac
operon model?

(A) Promoter

(B) structural gene

(C) Primer

(D) Regulator

29. Which transcription factor has heli-
case activity?
(A) TFIID
(B) TFIIA
(C) TFIIB
(D) TFIIH
30. Removal of introns and joining of ex-
ons is known as:
(A) Excision
4£B) Splicing
(C) Editing
(D) Cleaving
31. Which of the foliowing DNA Poly-
merase is required for mitochondrial
DNA replication in eukaryotes?
(A) DNA Polymerase . (Alpha)
(B} DNA Polymerase {i (Beta)
(C) DNA Polymerase ; (Gamma)
(D) DNA Paolymerase o (2m 1)
T086\A\2022-23
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29.

30.

31.

@ &

(A) W

(B) WGATED A
(C) W

(D) R
fr wfdras e d Belib nfafate axdt

&?

(A) DEIIE
(B) &Aw1IIT
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(A) Iases
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32.

33

34

During replication of DNA primers
are removed by:

(A} DNA Polymerase |

(B) DNA Polymerase Il

(C) DNA Polymerase III

(D) Primase

which type of DNA replication occurs
in Prokaryotes?

(A) Conservative

(B) Semi-conservative

(C) Dispersive

(D) All of the above

Which one acts as the actual inducer
in lac operon?

(A} Lactose

(B) Allolactose

O

Betagalactose

(DY None of the above

35, Amino acids attach to which site of

tRNA?

(A) 3'end

(B) Send

(C) Anticodon arm

(D) Small arm

To08\A\2022-23

32.

33.

34.
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R &CTAT S &7
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(A) wRafl

(B) ardwRel

(C) e
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36. Which subunit is required for recog-
nition of initiation site during tran-
scription of RNA?

(A) ua (Alpha)
(B) p (Beta)
(C) w (Omega)
(D) o (Sigma)
37. The homeodomain of Drosophila is
an example of:
(A) Zinc finger Motif
(B) Leucine zipper motif
(C) Helix loop helix motif
(D) Helix turn helix motif
38. Which one is not involved in epigen-
etic regulation?
(A) Gene mutation
(B) DNA methylation
tC) rlistone methylation

(D) Histone acetylation
7086\A\2022-23 [12]
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37.

38.

qEa ¥ P @ TP s B
&?

(A) o (37T

(B) pidRD

(C) w (3P

(D) o (Rymm)

Sraiftsen o1 MiER fbeat ve R
%

(A) i R Afte

(B) = fow At
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39. In lac operon the active repressor

40.

41.

protein binds to:

(A) Promoter

(B) CAP site

(C) Operator

(D) Regulatory gene

Trp operon is an example of

(A) Inducible operon

(B) Repressible operon

(C) House keeping gene

(D) (A) and (B) both

Which of these is not the function of

the Golgi body?

(A) Lipid Metabolism

(B) Carbohydrate metabolism

(C) Processing and sorting of glyco-
protein

(D) Amino acid metabolism

7086\A\2022-23
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40.

41.

[13]

Fercht -

(A) 9
(B) ¥vdare

(C) 3IReE

(D) Tt S

EBRYY R v FareRor -
(A) "D 3RF

(B) THIHRY 3NRH

(C) EEwmIT 3=

(D) (A) 3R (B) 2

51 A BN et B & R T8 22
(A) a9 gy

(B), PRIERSE TG
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oiasmic reticulum 15 associated 42, g¥ngzan smad faad w et 2

32, Sarce
~e (A) gt Hermor
(A) Hormone synthesis
(B) aH1 HIAWOT
(B) Lipid synthesis
(C) Storage and release of calcium (C) Hfwam 5 HOEROT 3¢ s
ions |
(D) & &/ B A&

(D) None of the above

43. The presence of cholesterol in the 43. @ el A PRRgTa FF Jufefy

plasma membrane:

(A) fEreeht @1 aiftis a—er &t 2

(A) Makes the membrane more flu-
id (B) BEBEH A BB RAVRH =

(B) Permits removal of hydrogex at-

geH 3 3rpafa 2ar 2

oms from phospholipids
(C) enables the addition of hydro- (C) BRPITE F EEFe- WAR &

gen atoms to phospholipids

SN A IEH &1 2

(D) Mokes the membrane less flexi-

ble (D) feeh @ 5w erehen & 21

44.7 Human RBCs become spherical due

44, ﬁ?ﬂa&ﬁﬁma&mmaﬁrﬁm

to the deficiency of:

et & st &
(A) Glycoporin
(A) EnzamiR=
(B) Porin
(B) o=
(C) band-3
(C) d= 3
(D) Spectrin
7086\A\2022-23 (D) Wy

[14)
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45.

46.

47.

48.

Term lysosome was first used by:
(A) Golgi

(B) Duve

(C) Maile

(D) Boveri

which cell organeile is involved in
glycosylation of protein?

(A) Ribosome

(B) Peroxisome

(C) Endoplasmic reticulum

(D) Mitochondria

Ribosomes were discovered by:

(A) Golgi

(B) Porter

(C) de Robertis

(D) Palade

How many protofilaments are pres-
ent in a single mammalian microtu-
bule?

(A) 5

(B) 13

(C) 20

(D) 26

7086\A\2022-23

45,

46.

ey T Wiy feae gRT 3gam

(A) Tifes

(B) sg@
(C) ™

(D) K
o T DR F & T

¥ e &2

(A) T

(B) Ui

(C) vRremfad Y™
(D) wrscIifEa

47. TEErEra B @S 5 B -

(A) TfEs
(B) WidR
(C) & JafEw

(D) Yoms

48. wWAURK! & s yarlomr § feaw

[15]

fefremice suftera @ &2
(A) 5
(B) 13
(C) 20
(D) 26
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49. The longest phase of cell cycle is: 49. PR TP B FED A graven d

(A) Interphase (A) J=REsn
(B) G1 (8) Gl
(C) M Phase (C) M ¥maw
(D) Cytokinesis (D) WERIBEIRE
50. Two sister chromatids are held to- 50, 2 WearfgT f5ad gRT 3MU= # 2 @
gether by: 2?
(A) Cohesin (A) PR
(B) Condensin (B) &R
(C) Histone (C) fe=m
(D) Actin (D) tfdes
51. Crossing over occurs during: 51. @i 3iaR 69 3w & kg grar &
(A) Leptotene (A) TuE
(B) Zygotene (B) gy
(C) Pachytene (C) W
(D) Diakinesis (D) IRfaEwH
52. Cell cycle is regulated by: 52. P T fves gRT PP Brar #7
(A) Nuclear clock (A) mﬂg
(B) Cytoplasmic factor (B) PR B
(C) Cyclins (C) wrhivrs

Both (B) and (C
() Pt (B) and (© (D) (B) 3k (C) 2=

70861A12022-23 [16]
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53.

54.

55.

56.

programmed cell death is ailso called
(A) Necrosis

(8) Autophagy

(C) Apoptosis

(D) All the above

The process of translating extracel-
lular signals to intracellular changes
is called: |

(A) Signal reception

(B) Signal transduction

(C) Signaling

(D) Signal transmission

Which of these is a G protein coupled
receptor (GPCR)?

(A) Serotonin receptor

(B) Rhodopsin

(C) IgE receptor on mast cells

(D) All the above

The action of adenylyle cyclase pro-
duces:

(A) Protein Kinase A

(B) Cyclin AMP

(C) Epinephrine

(D) 1P3

7086\A\2022-23

53.

54.

TR Bt g o W oE s &
(A) Faoea

(B) wsifdran

(C) earfrE

(D) IR Wit

I G B DT Rad §
T o ufsar TEeTa

(A) 5 T&oT

(B) ¥bd YRIHA

(C) ¥

(D) W FRI§OT

55. 3 ¥ B A1 0 G WeH gfima Td

56.

[17]

(GPCR) #?

(A) W= md

(B) AT

(C) wRE DRI W IgE I
(D) IRrH T

wffoe asaes & far 3w o= &
(A) W T3 e
(B) THig e.oq.D.
(C) ofrem
(D) 3§ &3
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https://www.rmpssuonline.com




57.

58.

59.

60.

7086\A\2022-23

RNA Primer is synthesized by- 57.

(A) DNA-directed RNA Polymerase
(B) RNA directed DNA Polymerase
(C) Helicase

(D) None of these

In Eukaryotes, Okazak fragments 58.

consist of:

(A) 100-150 Nucleotides
(B) 400-500 Nucleotides
(C) 1000-1200 Nucleotides

(D) 1800-2000 Nucleotides

Base sequence at coding strand of 59.

DNA is ATCGCA. The base sequence
on transcribed m-RNA will be-

(A) UAGCGU

(B) AUCGCA

(C) AUGCGU

(D) None of these

The composition of Prokaryotic RNA 60.

Polymerase is-

(A) w.B plo
https://www.rmpssuonline.com
(B) a ppim, Whatsapp @ 9300930012
) Send yvour old paper & get 10/-
(C) app'o 39 [ I 8 3R 10 T O,

Paytm or Google Pay

(D) ufflo
(18]

fsan smen &1
(A) # o= v FRRE 3R o= e il

(B) 3R o= v PR & o1 v oS
(C) el

(D) &0 A B &

gewam (gdRaes) § Feene avs

(A) 100-150 =gfderarcIssd
(B) 400-500 =faeraIcTSEd
(C) 1000-1200 fFFaTCIZEH

(D) 1800-2000 gfaeraicTEEw
d AT d R O R RS & B

ATCGCA 2| FRad ] 3R & U ®
&I BT P --------- B

(A) UAGCGU

(B) AUCGCA

(C) AUGCGU

(D) 5 & P &

ST (rbRaew) ¥ ww oy ¢ of
RS &7 W1 ------- Bt

(A) apBlo

(B) wpplw

(C) wppin

(D) afp

hitps://www.rmpssuonline.com
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61. The addition of which of the follow- g1 fiey ¥ fsaa g AR v= U it agean

ing is called RNA capping? &

(A) 7-methyl Guanosine (A) ?.ﬁmla'r;ﬁﬁ:ﬂ'
(B) 7-methyl adenosine (B) 7-fhemse tfeafRm
(C) 3-methyl cytosine (C) 3-Fpma a=aRe=
(D) 3-methyl thymidine ; (D) 3-Fromee ahr=

62. Shine-Dalgarno sequence is- 62. W.mmmg[

(A) AGG AGG (A) AGG AGG

(B) TGG TGG (B) TGG TGG

(C) GAGGAG (C) GAGGAG

(D) GTGGTG (D) GTGGTG

63. Which termination factor recognizes 63. ©F 9T YT PRSP T9 PR UAA Td

stop codons UAA & UAG? UAG &' TgaraT &1
(A) RF-1 (A) RF-1
(B) RF-2 (B) RF-2
(C) RF-3 (C) RF-3
(D) RRF (D) RRF
64. In Eukaryotes start codon AUG is  64. gowarl (IHRATH) § TRAA RN
embedded in- AUG ------- % afafea dan 21
(A) Kozak sequence (A) PSS DA
(B) Shine-Dalgarno sequence (B) -SRI S
(C) Consensus sequence © mm
(D) Promotor sequence (®) qtﬁz?mﬂtﬂr
7086\A12022-23 [19] P.Y.0.
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65.

66.

The genes that are transcnbed only
when their product 1s needed are
called-

(A) Constitutive Gene

(B) Facultative Gene

(C) Repressor Gene

(D) None of these

In Plasma membrane which of the
following is open at one end at a
time?

(A) Channel Protein

(B) Carrier Protein

(C) Receptor Protein

(D) Structural Protein

65. 4 = M dam X JAE A

66.

wawgwa & ) @ sfea @ &,
e O

(A) TE AH

(B) ¥eoMM S

(C) Tt A=

(D) ¥ ¥ 2 &

e feh § B oe T A v @ RR
R et At &2

(A) st (&9e) WA

(B) S (PReR) M=

(C) & i

(D) WIS N

67. Nucleo-plasmic index (NP)= 67. fararenfs gEdis (NP)=
vn
(A) ye-vn (A) V‘cv"v
-Vn
vn
n-Vc
vVn-Vc¢
Vn
D Vc-Vn
Vc
T086\A\2022-23 [20]

https://www.rmpssuonline.com



68. Barr body in females is an example
of
(A) Euchromatin
(B) Facultative Heterochromatin
(C) Constitutive Heterochromatin
(D) None of these

69. Intracellular signaling works
through-
(A) Hormones
(B) Proteins
(C) Second messengers
(D) Steroids

70. JAK-STAT pathway is on example of-
(A) G-Protein linked receptor
(B) Ligand gated receptor
(C) Enzyme linked receptor
(D) Hormone linked receptor

71. Which of the following is not a sec-
ond messenger?
(A) cAMP
(B) IP3
(C) DAG
(D) None of these

7086\A\2022-23

68.

69.

70.

71,

[21]

AeEnh & ar Ak 1 TR0 1A

&

(A) ggwiiEa

(B) ¥sRus ErmmfeA
(C) vas e
(D) ¥ P T
o &

(A) &Y

(8) s

(C) ficda g@t (RN
(D) R

&1 U RV Al 2
(A) MN-IEF wETHT TR

(B) eret gike e

(C) UaIEH TEer T

(D) & wEen= U

fr & ¥ B v R @ (RN 7
&?

(A) CAMP

(B) IP3

(C) DAG

(D) ¥ A B T

P.T.O.
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72. The protein complex that held two

73.

74.

75.

7086\A\2022-23

sister chromatids together is-

(A) Tubulin

(B) Actin

(C) Cohesin

(D) Cadherin

Which stage is also called as bou-
quet stage?

(A)
(B)
(€)
(D)

Leptotene

Zygotene

Pachytene

Diplotene

Terminalization of chiasmata occurs
towards the end of-

(A)
(B)
(©)

Pachytene
Diploten
Diakinesis

(D) Metaphase I

Apoptosis promoting proteins are-

(A) Bid

Whatsapp @ 9300930012
(B) Bax

(C) Bcl-z

Paytm or Google Pay &

(D) Both (A) and (B)

https:/www.rmpssuonline.com
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72.

73.

74.

75.

(D) HR=

P Frawen g e W Deerar &7
(A) TIRX

(B) gmuee

(C) wyrug

(D) g

(A) Bid
(B)
(C) Bcl-z

(D) (A) awur (B) =)

Bax

https://www.rmpssuonline.com



4

Four alternative answers are mentioned for
each question as A, B, C & D in the booklet.
The candidate has to choose the most
appropriate answer and mark the same
in the OMR Answer-Sheet as per the

direction :

Example :

Question :

SENON NONO)
SIONON MO
ON JONO,

Q.3

llieaible answers with cutting or over-writing

or half flled circle will be cancelied.

5

11

In case the candidate does not fill the
appropriate circle in the OMR Answer-
Sheet and leave blank, 'Zero’ mark will be
Givern.

The candidate has to mark answers on
the OMR Answer-Sheet with black or
biue ball point pen only carefully as per
Qirections.

There will be no negative marking.

Examinee must handover the answer-
sheet to the invigilator before leaving the
exam:nation hall. Examinee can take away
the Booklet along with them.

®ougn-work, if any, should be done on the
tiank page provided for the purpose at
the end of booklet

) Writc your Roll Number and other required

detads in the space provided on the title

paae fthe booklet and on the OMR
Lnswed Sheet with hall point pen Do not
use lead pencil

.To bring and use log-book, calculator,

pager & celiular phone in examination
hall is prohibited

¥ R T b TR T A,

! T&gméluﬂ&ﬁfﬂﬁaﬁﬁmﬁ“
v R ad e Fad g IR v A
IR B OMR FFR-T36 ¥ Frai-ud ve 951 3
sy gaR s 2

FATE :

A
w2z (&) . @
w @@ O O

IR TR AN TR I T RO AR T
v A men w=aw & man IR e ax B som

-

J

10

afe wdemil OMR IR-T36 ? 39w Mt T
T v & IR IR B I By e 2
A R = e B Fmem

T B g H IR OMR FR-TIF
o T @ I T R 8} FabagdT

Fréerer sfea a3 2

Frfta midn ff &)

Terdt RO Wi W 91 A ord By
Friee # a2 chemd g g o
WY & A FSH

-3 afe B 21 7w B ¥ P e ar
99 R & v e arfer)

TR $ TEUS R A OMR JeR-ges
a7 fretfa v 2w won g favor @

WE2 03 A 2w Pem w wgm 3

| T su A s ge gt dwe mn

drgee o A en M see Jedm g
afha &)

https://lwww.rmpssuonline.com



